The Cost of Capital (g)

Answer the following two problems:

[image: image1.png]10. Caleulating WACC. Find the WACC of William Tell Computers. The total book value of the
Fimisequiy is $10 millon; book vake pe shre is 20. The sock sls for aprice f $30
per o, v the st of iy i 15 pescnt. The firn's boads have o o vale of 55 il
lom and el st pric of 110 perceatofpas Theyiedto maturiy on the bands is 9 perceat
‘and the firm's tax rate is 40 peroent.





[image: image2.png]15. Capital Structure. Examine the following bock-value balance sheet for University Prod--
uets,Tne. What i he captal stucture o the fiem based on market values? The prefreed
tock curenty sels fo $15 per shar aad the commen stosk fo 520 pe shre, There ave
one millon common shares cvetnding.

BOOK VALUE BALANCE SHEET
all values n milions)

Cash and short-temn seurtes$1 si00
curent yieldto manuiy = %)
Acsounts receivale 3 Prefemed stok Gpr vlue 520 20
perchare)
Ieatoris 7 Commonstock (par value 5.10) '
Plant an quipment 2 Addiional pidinsockholders” o9
capial
Retained carnings 100
Tonl ol 20





